GEM(ERDER5T)

Pitch 0.7mm

Drilled Hole diameter
0.3mm

Etched Cu diameter
0.5mm

Thickness of Cu
25um

Thickness of G10
400um
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GEM 600,1200,600,1200,600
Layout of the cell

Gas: CH, 10%, Ar 90%, T=300 K, p=1 atm
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Production point of electrons

Under: 0, in: 897, over: 0
Sum: 897, Mean: -0.253, RMS: 0.072356
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End point of electrons

Under: 0, in: 851, over: 0

Sum: 851, Mean: -0.41938, RMS: 0.10202
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Contours of V
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GEM 1200,1200,1200,1200,1200
Layout of the cell

Gas: CH, 10%, Ar 90%, T=300 K, p=1 atm
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GEM 1200,1200,1200,1200,1200
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GEM 1200,1200,1200,1200,1200

Production point of electrons End point of electrons

Under: 0, in: 3921, over: 0 Under: 0, in: 3417, over: 0
Sum: 3921, Mean: -0.27957, RMS: 0.0638218
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GEM 300,1200,300,300,1200
Layout of the cell

Gas: CH, 10%, Ar 90%, T=300 K, p=1 atm
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Entries or probability

GEM 300,1200,300,300,1200

=
()

h O 1o

-

»

Y = S RN e

»

Production point of electrons End point of electrons
Under: 0, in: 385, over: 0 Under: (), in: 381, over: 0
Sum: 385, Mean: -0.21497, RMS: 0.10512 Sum: 381, Mean: -0.35273, RMS: 0.13983
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T=0.2mm GEM 600,600,600,600,600

GEM(ERDER5T)
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T=0.2mm GEM 600,600,600,600,600
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T=0.2mm GEM 600,600,600,600,600
Layout of the cell

Gas: CH, 10%, Ar 904, T=300 K, p=1 atm
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T=0.2mm GEM 600,600,600,600,600
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T=0.2mm GEM 600,600,600,600,600

End point of electrons

Under: 0, in: 11, over: 0
Sum: 11, Mean: -0.33276, RMS: 0.10716
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